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The figures in the margin in

Group - A

Answer the following questions. 2720
1. The methods of measuring trends are
(A) cyclical fluctuations, secular trend
(B) irregular movement, seasonal variation trend
(C) graphic method, semi-average method, moving average method, method of least squares
(D) None of these

2. An unbiased die is rolled. The probability of getting an even number 1s

1 1
A) - B —
(A) 3 B) 2
1 1
C) — D) —
© < (D) 5
3. Coefficient of correlation (r) lies between
(A) [0, 1] B) [-1,0]
(C) [-1, 1] (D) [-2,2]
4. If two attributes 4 and B have perfect positive association, the value of coefficient of association
is equal to
(A) +1 B) -1
(C) 0 (D) (r — 1)(c — 1) [where r = row, ¢ = column]

5. Ifthe sets A = {1,3,5, 7}, B=1{2,3,4,5,,C={2,4,6 8}, then AN (B CO)is

(A) {3, 5} (B) {3, 6}

(C) 15,8) (D) {1,3,5, 8}
6. logs \/5\[5 =7

(A) 5 (B) 2

(C) 1 (D) ;
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a positive integer and x < 7 }

—
w

4= {x:X
]

g {xixis the positive integer and 4 < x = 10}, then the set 4 _ p
’ - Bis

The components of a time series are

(A) secular trend, seasonal variation, cyclical fluctuation, irregular movement
(B) free-hand, moving average method, semi-average method
(C) time reversal test, factor reversal test, circular test

(D) None of these

If ( AB) = (A)N(B), then the two attributes 4 and B will be

(A) Independent (B) Dependent
(C) Correlated (D) None of these

1 12
The Middle term of (x — —j is

x
(A) 924 (B) 462
(C€) -924 (D) —462
30th term of the A.P. 10, 7, 4, ....... is
(A) 97 (B) 77
(C) —77 (D) —87
If log,9 =2, then the value of x is
(A) 3 ® -3
€) 9 (D) None of these
+ If p, = 12, then find the value of 7.
7
(A) 6 (B)
€) 4 (D) 5

AGrdSm,) - gy

iness Math, anq

1y nCy = 12 1 1, then value of » becomes fs"l{f.—(i(‘GE.j_]('hg/CBCS
(A) 3 (B) 4
(©) 2 (D) 5
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ts in the hospital due to heat stroke is

15. Increasc in the number of patien e
(B) [rregular variation

16.

17.

18.

19.

20.
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(A) Secular trend
(D) Cyclical variation

(C) Seasonal variation
) of Laspeyres’ and Paasche’s price index number is
(B) Bowley’s price index number

(D) None of these

The Geometric Mean (G.M.
(A) Fisher's ideal price index number

(C) Kelly's price index number

If » = 0.4, Cov (x, y) = 10 and 0, = 5, then find the value of o,.

(A) 5 (B) 2

(©) 3 (D) None of these
2 3

If 4 and B are two independent events and P(A) = 3’ P(B) = 3 then P(4 © B) =?

7 2
(A) 30 (B) 5
7 13
© 5 (D) =

In what time will a sum of money be double itself at 5% compound interest?

[Given that, log 2 = 0.3010 and log 1.05 = 0.0212]
(B) 13.2 years

(A) 13 years
(D) None of these

(C) 14.2 years

2025
How many terms will be the middle terms in the binomial expansion of (x + l]
%

(B) Two

(A) One
(D) None of these

(C) Three

Group - B
Answer the following questions.

The coefficient of correlation from the following data is
[x]1]2[3]4
y|8[6|7|5]|5

A) 0.75
IC)) - 0.85 e
' (D) 0.82

4x10
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Calculate the quantity index for 2024 from the follow
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Commodities

5 4

10
L
(A) 81.132 (B) 71.01
(C) 61.012 (D) None of these

~

3. The difference between simple interest and compound interest on a certain sum for 3 years at 5
is ¥ 228.75. Find the sum.
(A) 250,000 (B) %31,000
(€) %30,000 (D) %20,000

% p.a.

4. The value of log; log, log, 256 is

(A) 0 (B) 1

©) 2 D) 3
5. From the table of group index numbers and

index :

group weights given below, calculate the cost of living

EGroup ‘ Food l Clothes | Fuel | Rent | Misc.

| Group Index | 428 | 240 [200 [ 125 | 170

| Weight | 45 [ 15 [ 8 |20 | 12
(A) 200 (B) 290
(C) 240 (D) 3000

Fit a suitable straight line trend equation by the method o

fleast squares and estimate the av
production for the year 2025 from the following time s

erage monthly
eries data :

: Year 2018 2019\2020 2021
Average Production

20 22
per mon{hﬁ ('000 tons)

21\24

(A) 27.57 (°000 tons)

(B) 17 (C000 tons)
(C) 24.52 (°000 tons)

(D) None of these
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15
. ] . 2
Which term is independent of x in the expansion of [x - —J ?

x2
(A) 5th term (B) 6th term
(C) 7th term (D) 8th term

How many types of executive committee can be formed with 6 members from 7 Indians and 4 foreigners
in which exactly two of the members are foreigners? '

(A) 271 (B) 371

(C) 210 (D) None of these

How many odd numbers of 5 digits can be formed with the digits 0, 1, 2, 3, 4 without repetition?
(A) 24 (B) 26

©) 12 (D) 36

If x= 6,y =7, b},x = 0.45, bxy = 0.65, the equation of the regression line of y on x is

(A) y=0.45x + 43 (B) y=1045x+ 7
(C) y=045x + 6 (D) y=0.45x + 0.65
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